: l ALY
gy Uxpregsions unzﬁom' v \ff;,; /1%
Date: S‘I—qu & [,“.dy 2 '
) v 571
1.£atisthevalueof(o_3)4? :% Olz X 2
‘ e i b

e 0 247 o 0% .1

& Y, A AN
2. Which number is equivalent to 83? g 3 (,0"{
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3. Which value is equivalent t062+42 + 2% (D Z + “{ s + 2 4
A 28
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4. Which value of the expressionra = ;i}will make the equation below true?
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5. What is another way to write3 x (4 + 5) = 277

A (9+3)+5=27 s bl .
BGx4+(3x5=27 Distributite PI‘OF’ﬂr"l")B
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6. Which statement is true for all values of y? '
A 3Bxy=y+ X
y+1:=:4+:3)6/ ._./‘7 Dmmu"}nhY ’F O Sma{%
C. 26+y=y=+25 . d’dﬁ,\oﬂ S%ﬂ. ¢ ‘ In 0{ ‘Il'
D. y-16=16-y O‘P 7 Y r{’h@ o‘pp'&‘f roklﬁ 6{f ho W
ohorq™) 1 adistion P bk answer

7. At a movie theater, a customer can buy a bag of popcorn and a large soda for a special price.
The expression below represents the total amount, in dollars, a customer will save if he buys x
bags of popcorn and x large sodas at the special price.

. I - 9 B i ~\
4.50x + 5.50x — 7.50x i 5() + |10, 00
Which expression is equivalent to the one shown above? . 7 & 7y
A 6.50x + :’: 6C Rl i

C? 2.50x
. 1.50x
8. Which of the following is equivalent to the expression x + 3x + 5x for all values of x?
A B P it Ao
£30 Lombiny ke feymg
© o Ix+%x +Sx =9x

D. 9,1’3

ngh expression is equivalent to5(,; — 9)? ?
5n—45 bu i ()’rjflj
B. 55445 _‘76‘\*‘\ /‘b_i\q P
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10- What is the value of t in §f= 6? g\

A 33 o afep gquation
52 T Solw @ one -chep Gquation
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. If 8x = 800, what is the value of x? W B
' inyerst/ .
Nn 8)() s ?DD —1 @P(;r -‘hoh IS
s s divisor
Bpo ¥ = 160

C. 64

100

12. When Coach Orozco opened the badminton sets he purchased, he found he had less than
48 badminton racquets. Each badminton set had 4 racquets. In the inequality below, b
represents the number of badminton sets he could have purchased.

4bh < 48
Which could be the number of badminton sets Coach Orozco purchased?

v Hb meany multiply

c. « Which answer chowt mu pr)aed by Y 3‘1?%

jov less than Ug "(”S,{J'ﬁg? v

13. Erica bough@bVDs and@ﬁiggp:gimes at a store. If@epresents the cost of eacnd{gﬁ?}
represents the cost of each Video garﬁﬁ'ﬂ which expression represents the total cost of Erica’s
purchase before sales tax?

[V
B. 24+3y r */

3d+2v

D. (3+2)(d+V)

14. The cafeteria has 16 tables and each table has 6 chairs. Which equation can be used to show
how many students can sit and eat lunch at the same time?

A 16-6=c ' - ks
B. 16+6=c lU A U)., )
@ 16 x6=c¢ {;&blf& Qhﬂ"m

D 16+6=c ats/-ac)v

15 owniS times }s many CDs . If Bryan owns 14 CDs, which equation can be used

to find the number of CDs that Mason owns?

m=14+5 ,1
m=14-5 (Magon oWns 5 times Hhﬂ{ f’]":ljah has

A
B.
@m:14><5
D. m=14+5 gpb\un has 14

S0 Masom = |4 x £

\)3
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16. Terrence has 42 baseball cards. His sister has b baseball cards. Together they have 101 cards. Which of
the following equations could Terrence use to determine how many baseball cards his sister has?

ATIDL +42 b
B. bi-101 = 42
& q b = 181

A% 4ib = 101

17. The deli server put 0.25 pound (Ib) of meat on each sandwich. She used the equationy 25, _ 50 mu' Gl i's'l or

to determine the number of sandwiches (s) she could make W|th 50 pounds of meat. What is the | S
value of sin her equation?

A 25
B. 75

@ 200
. 525
18. If3, — g what is x? \l\\(QY‘\U ) .
@ Dx =4 OF mu hFl\fJﬁ‘p"ﬁ
B. 6 S

e A2 ey T division
o ,%—— = D

19. A water park has a rule that a person must be at least 48 inches in
height, h, to go on a certain water slide. Which inequality represents this
rule?

Y h> 48
B. —
h <48 h ~

® 1> 48 i N oh-c@'i@f o<

> h<48 must Yo

74
20. Which value of x makes the inequality true? (Y\(J 1 ns
), ¢
" -/ It " - B ¥
4x>1.2 /7/)( Fn " H,( P),(/ﬁ,‘} 1M
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21. Which graph represents the solution set for the inequality 7.5 < x ? "{@' \ &lb[«e’ ‘
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Which eans yoit zls? have /{—Dﬂch i Gigr % >7.5
22. Jim has aToll of 20 quarters. He uses 5 quarters to buy a snack from a vending machine. He uses 7 40 ‘\'hé’ r|ﬂ]ﬂ +

4 more quarters to buy a drink from another machine. Which equatlon can be used to figure out
how many quarters (Q) qu has left? )h wa_t-ra(/ Ruz T{{I’J us((l

A Q=20-5+4

.C i s Q.:QZ,O“’ 6‘/_ L‘l for drink

20+ 54 /(~ ]\
20+5+4
thﬁ:.c AWiH" Quzar#rf used

23. Which problem situation could he used to solve the open sentence below? rpr Shac

l

0 IOt
]

B, =7 — ,“ )
) o> s
A Darell has $12.00 more than Blanca. If Blanca has p dollars, how much does Darell have? v '/’ ) ' F)‘
@ Deena earns $12.00 each time she cleans the garage. If p is the total amount of money that she earned 7~
last year by cleaning the garage, how many times did she clean the garage? /} l <
C. Amiee earns $12.00 on each box of paper she sells. If p is the number of boxes of paper that she sold, / '

how much did she earn in all?
D. Tanisha had $12.00. She spent p dollars on a notebook. How much money does Tanisha have left?
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24, The table below shows Abigail’s total savings, y, based on the number of

months she has been saving, x.

Which equation would determine Abigail's total savings after xweeks?

Ay =450x

@ y = 225x

C y=x+ 225
b,y =2x + 450

Abigail’'s Savings

Month
(x)

Total Savings

)

1

$225

$450

$675

| G N

$900
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